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#include <stdio.h>

#include <math.h>

#define IMAX 100001

double func(double x, double y);

/* */
/* main function */
/* */

int main(void){
double x[IMAX], y[IMAX];
double final_x, h;
double ki1, k2, k3, k4;
int ncal, i;

/*--- set initial condition and cal range ---*/

x[0]=0.0;
y[0]1=0.0;



final_x=10.0;
ncal=10000;

/* —-—— size of calculation step -—- */

h=(final_x-x[0])/ncal;

/* —--- 4th Runge Kutta Calculation --- */

for(i=0; i < ncal; i++){
kl=h*func(x[i],y[i]);
k2=h*func(x[i]+h/2.0, y[i]+k1/2.0);
k3=h*func(x[1]+h/2.0, y[i]+k2/2.0);
k4=h*func(x[i]+h, y[i]+k3);

x[i+1]=x[i]+h;
yli+1]=y[i]+1.0/6.0% (k1+2.0%k2+2.0%k3+k4) ;

}

return O;
}
/* x/
/* define function */
/* */

double func(double x, double y){
double dydx;

dydx=sin(x)*cos(x)-y*cos(x);

return(dydx) ;
}
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/x ========== 000000000000 */
void gauss_jordan(int n, double a[][100], double b[]){

int ipv, i, j;
double inv_pivot, temp;

for(ipv=1 ; ipv <= n ; ipv++){

/¥ ——— 0000=1(00000000) -——- %/
inv_pivot = 1.0/alipv] [ipv];
for(j=1 ; j <=n ; j++){
alipv] [j] *= inv_pivot;
}

blipv] *= inv_pivot;

/ —— 00000=00000000000) ——— %/
for(i=1 ; i<=n ; i++){
if (i = ipw){
temp = ali] [ipv];
for(j=1 ; j<=n ; j++){
alil [j1 -= temp*alipv][j];
}
b[i] -= temp*b[ipv];
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